Yaday /che Xryr AN ¥/ =
F12[0 FEigE BREX
< F{ABIE>

JIE 5z K4 P P&ET EL JIE 452 K4 P EF
1§ IR ES 19.5 1841 | EAXER FiF Y 13 312
Z x| He F 19 194 | HALAKER (LA EfE 13 282
H# ZF IZIB =F E— 18 73.51 1929 20 | EARZER [ KEJ BX 13 266
AR 17 2141 | FEXE BA S5t 13 263

Jbim BEsh 19 22{i | EIFEAED B E 13 81

& FE BEE 16.5 23 | TEILAE | HhHPara 13 | A 101
2 |RAAB It 16| 065| 929 | mrzm| mmae | 12 [ sw
A EfE 15 2541 | FEXR | HAREEF 12 240
BIF B 18 2641 | FEXER T2 &t 12 239
& A 15K 17.5 2741 | FALAED EF Bt 12 229
3 [FRXH I FE g 75| 049 | 1369 | o TeAzm | mAzEs | 12 | 15
BAR 54 14 200 | K& O 3RE3 12 148
=R EmE 19 304 | FEXE WL %04 12 57
& Ak &2 16 3141 | FEXER =g BR 12 18
4 |mmaa FiE BT 14 62 | 913 321 | BAFARD o E— 12 | 480
bt 3303 13 331 (=mEsxE JEM 12 | A 136
BEAT 16 3441 | EEES RE B 12 | A 140
= & FiE Y 13 3541 | BAFEAER HA S 11 294
o |EAEH KEJI BX 13 54 1304 36fL | BATEAEE | Rk TIEF 11 276
EHFE 12 37461 |  AER $TE BEE 11 29
aH BB 16 384 | FEXE FiE AR 11 A 93
- 4B JEHE E 12 391 | BETEAER ZF BA 10 46
6 [smmss g g 43 |A238) o Tmmam] xAEE | 1o 24
il & 7 41461 | KEB O ERF 10 A 17
HOEF 17 4241 | EALAER BEIE = 10 A 32
w=al RE EE 12 4341 | KB BT R 10 A 45
1 [ER= =% 7] 41:0 | A O48| L Tamam | BB %57 | 95 | ass
Nk EA 5.5 A5GL | BATEAER | 4T BT 9 28
4641 | BIFEAER Ll Er— 9 A 48
4741 | FEXE AT 5 9 A 100
4841 | AL AED T BT 9 A 139
491 AER = RiR AE 85 A 75
5001 |EEESXE [RE H— 8 88
5141 | RILARER ik FIL 8 31
52{i |expEmEns EF| #hBh 8 A 67
53{u AER 1k 35F 8 A 79
< B A R AE > 5441 | FEXE w"HE 8 A 196
I 5z X &R K4 P |E=& 55 | FEXE T8 hF 7 A 93
% AHR TR FEE 18 735 56 |mEEEEE il 1 7 A 285
24 AEB =F E— 18 448 5741 | EARXES BE T 7 A 336
3 | FEXE A X 17.5 500 5861 | REE =) HF 7 A 406
441 BALES GO T 17 354 591 AER FiF & 6 A 88
51 | ERZER BRAT #i 16 366 60fL |msmmmsns| HE Kih 6 A 295
64L AER Gi= g 16 257 614 | BAFEAE [ WA BKF 6 A 296
A EERE L e 16 97 624 | TEXE RIE BE— 6 A 449
8{i AEB Ho % 15 589 6311 | EARXES A EE 6 A 458
ofu | FATEAER =R B 15 440 64 | KBRS Ak EA 55 | A 354
104% | RALAER FEREE 15 222 6541 | EARZER | MNER FREF 5 A 560
114z AHR EIF=RAPN 15 152 66{I | FEXH fRA fLF 4 A 248
1241 | BALAER JtiE BEshA 15 8 6746 | KEE AR B 4 A 388
1341 | FEXER ER B 14 449 684 | FEXE A = 4 A 605
1441 | FEXER I He 14 332 6911 | EARXES H:& ¥ 4 A 779
1541 | RALARER AR FiE 14 298 70061 | EARZER 0O &3 3 A 598
1641 | BEFEAER Bk & 14 202 7141 | ILARER k% RF 3 A 662
1741 | BAFEAER 17k HF 14 44 7261 | RER Tk HSZ 2 A 715




